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I Semester B.Corn. Degree (C.B.C.S.S. - Reg./SuppteJmprov.)
Examination, November 2017

(2014 Admn, Onwards)

CO IVI P LE I\,'IE NTA HY COUBSE
1C01 COM : Business Statistics

PART A

Answer all questions. Each caffies 1/2 mark:

1. The relationship betvveen AM, c[,4 and HM is

2. Mean devialion is minirnum about

3. An index n!mberis aspeciallype oi

4. Ar anangemenr oldala in rowardcol-.n-sarecattFo

PART B

Answerlourqueslions, Eachcafiies 1 mark i

5. The median ofthe variale value 11 7,6,9,12,15,19.

6. Whal is consumerprice index number ?

7. Whal are the various melhod ol studying dispersion ?
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8. Definesampting ctes gn

9. Defineclassitcation.

10. Dei ne coefiicienr ot vartation (4r1=4)

PABT C

Answerany sixquesiions (Nolexceedingonepage).Each carries3 marks :

11. Mean ol 50 ilem was 80. lt was discovered aler lhat two lems was wrongty
lakenas23 and 24 ir placeof32 and 42 respeclivety. Caicutatecorecr mean.

12. Deiine medan. Slate ils rnertr ancl demeit

13. Frorn the io owinq dala, conslrucl an index number of price under sirnple
aggregative method forthe year2006, usinq 2OoS as base year.
Commodity pricein2OO5 pricein2006

F.'- JO 4
WnAir fi Z,
Coconutort rc V
Sugar 12 9

1 4 Deiine cosi of tiving index number

15. howulljoucrt urdtanar. . .dreo-.onln"o"s eo,e cyOst|Ourion ,

1 6. What are the desirab e properties oi a dispersion ?

17 Find missing freq Lrency, I Atvt is 28

Prolit I 0-10 iO-20 20_gO 30_40 40 SO 50_60
Ship: 12 B 27 ? 17 6

18. Ca cutate mean devlatron from median.

Weight: €O 61 62 63 65 70 75 80
No.ofworkers: 1 3 5 7 tO 3 i I (6x3=j8)
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Answer any lwo questions. Each carries I marks i

19. Thelollowing arc the score of two batsman A and B in a seies of 10 one day

A: 12 115 6 Z3 7 19 119 36 84 29

Bt 47 12 76 42 4 51 37 48 133

1) Who is betler run getler ?

2) Who is more consislent ?

20. Definetabulalion of data. What are lhe rules foriheconsiruclion ofagood

21 . From the following fixed base-index number calculale chain base jndices.

Yeari 2(n 2co1 2W 2m3 2m4 2005

Fixedbaseindex: 380 4OO 440 48O 5@ 550 (218=16)


